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Happy knitting! 
 
 
 
 
 
 
 
 
 

 

 

 
Materials 
2​ ​skeins of Butterfly, co. 04 
 
Circular needles 32” (80 cm)/ sz. 7 (4,5 mm) 
Crochet hook G/6 (4 mm) 
 
Yarn quality 

 ​Butterfly, ​Hobbii 
100% premium acrylic/ 7.1 oz. (200 g) = 547 
yds (500 meter) 
 
Gauge 
20 sts and 40 rows for 4” (10 cm) in garter st. 
 
Buy the yarn here 
http://shop.hobbii.com/metorit-asymmetrical
-shawl  
 
Hashtags for social media 
#hobbiidesign #hobbiimetorit 
 

 
Size 
Onesize 
 
Measurements 
Width: 27.5” (70 cm) 
Length: 71” (180 cm) 
 
Pattern information 
The shawl is knitted in garter st. The first 
part is knitted with increases on all rows 
all together with stripes. The last part is 
knitted with decreases on every 4th row. 
Finally a round of single crochet is made. 
 
Abbreviations 
Garter: ​knit on all rows. 
1 st inc: ​Knit through front and back loop of 
stitch. 
1 st dec: ​Knit 2 together 
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Stripe pattern 
Knit with 1 strand of yarn from the center of the skein and 1 strand from the outside, so there 
is as much contrast as possible. 
Knit 2 rows with alternately a strand in a bright color and 2 rows with a dark color. 
 

Pattern  

First part  
Cast on 2 sts in a bright color. 
1st row, bright:​ 1 st inc, k 1 = 3 sts. 
2nd row, dark:​ k 2, 1 st inc = 4 sts.  
3rd row, dark: ​1 st inc, k 3 = 5 sts.  
4th row, bright:​ k 4, 1 st inc = 6 sts.  
5th row, bright: ​1 st inc, k 5 = 7 sts.  

Repeat rows 2 to 5 until there’s 140 sts = approx. 27.5” 
(70 cm) in width. 

Second part  
Cut the bright strand.  
Start decreasing in the same side as the increases on 
every 4th row: 
Knit to 3 sts left, k2tog, k1 = 139 sts. 
Knit 3 rows. 
Repeat these 4 rows until there is 3 sts left. 
Cast off, but don’t cut the yarn. 
NB ​When beginning a new skein, finish and start with 
the same shade of color. 

Border 
Place the last st on the crochet hook and work 1 row of 
single crochet. 
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